& oEREE

HENGYUAN HYDRAULIC

HA7V RIIEEHER
Variable Displacement Pump HA7V

#1& size 20......500

2.0/5.1 &7 series

FEIEAWA 35MPa  Nominal pressure 35MPa
IEEE L 40MPa  Peak pressure  40MPa

H # Contents

—. BIE%RH Ordering Code......ccoevevrreuerererenens 2 7% 18 Ih 2 # % Constant horsepower control LV...........8-9
Z. EHE Construction..........cccoceeevecieveccvceneeen. 3 +. 18 JE #2 #l Constant pressure control DR................... 10-11
=. il Hydraulic Fluid........ccccoovvveviienccnrenn. 4 J\. BELLHI#$ Electrical control EL..........cccoveuveeenn. 1112
M0, HARSE Parameter..........cccoccevevvecevenerenen. 46 H. & E 42 %] Hydraulic control pressure HD................... 12-13
F. RETEFED Installation Notes........ccceevnr 7 +. FTHSME R ST Unit DiImensions.........ccceeveececennn 15-20

¥F = Features

1. HA7V #iEUii e 8 R, SR T C R aY#ik EIREh
Variable Displacement Pump HA7V widely used for open circuit in hydrostatic transmission
2. &R FATEM S T A Gl
Suitable for walking mechanical or industrial areas
3, fItkSEMAZ BABKEAHR, BRIEETF. BEE
Between cylinder and oil distribution plate for spherical oil distribution, excellent oil absorbency. high efficiency
4, Wi, KEFH, ARES
Resistant to shock,long service life and high reliability
5. JMEIEHIMOL, FIRFEMIIHAER
Many external control port to flexible installing of function valve
6. MiHAESWhFHEMAENIEL, AEEERETAAXATLTS
Its flow and speed is proportional to the displacement,lts can operate adjust displacement with stepless on constant speed
7. WEEhihEE R 3213 o) R T

Drive shaft capable of accepting radial loading



HA7V R5IEFHER
Variable Displacement Pump HA7V

H A7V | 160 | LV | 2.0 L|Z]|F|]O]|]O

T
I
1EIEF&E Hengyuan Hydraulic HBV T4 Auxiliary Equipment
FES Pump type I None 9]
@R Variable Displacement Pump A7V HHEIRIEA# with pressure cutoff  p
I i, LV, EL built-on for LV,EL,HD
HE# Displacement(Vgmin~Vgmax) #1#& Size #1 HD
Eir{aEREH constant pressure  F
(0~20.5ml/r) 20 remote control
(8.1~28.1ml/r) 28 FT2PRNL Stroke Limiter ,
(0~40mi/r) 40 o
¥ None
(15.8~54.8ml/r) 55 R R Strolt(]elimitlfr o ¥
N mechanically adjustable
(0~58.5ml/r) 58 ( BF LV #1 DR) (for LV‘DR}Y j
(23.1~80ml/r) 80 TEITIEFR{GL  Stroke limiter ,hydraulic  H
(0~78ml/r) 78 (ATLY) (for LV)
(30.8~107ml/r) 107 0O Pipe Connections .
(0~117ml/r) 17 ( 34 20~500) (series 20~500) F
(46.1~160ml/r) 160 EAH@mO: Pressure port:
SAE X, ZEfIE  SAE flange, on side
(0~250ml/r) 250 Wi O Suction port:
(0~355ml/r) 355 SAE %=, #EMIE SAE flange,on side
(0~500ml/r) 500 ( #f& 20~160) (series 20~160) G
EhHO: Pressure port:
I SROLERE, EMNE threaded, on side
TEAN Control Device 5 [u P Suction port:
— SAE %2, #£M®E  SAE flange,on side
1EIhZE+#EH]  Constant horsepower control LV
_ Shaft End
tEERE Constant pressure control DR b anen )
BSIEBIEH] Electrical control EL
FEHE GB1096-79 Keyed Shaft P
M EE ) Hydraulic contrlol pressure related  HD %@ DIN5480 Splined Shaft Z
FhiEhl Manual control(wifh handwheel) MA 4t GB3478.1-83  Splined Shaft S
GRS Series #ElE ( MBhEF )Dircetion of Rotation(View on shaft end)I
#7%) 2.0, ##& 20~160 Series2.0, size20~160 2.0 | il:5 s clockwise R
%% 5.1, #Mi& 250~500 Series5.1, size250~500 5.1 et §t anti-clockwise L
o ITHRAI @ Ordering Example:
A7V, 160, LV, 2.0, R, P, F,. O, O A7V, 160, LV, 2.0, R. P, F, O, O
A7V TER, #Mi& 160, FHEHFE LV EH, 2.0 &7 Axial piston variable displacement pump A7V,size 160 ,with
IRt Et e, T8 P, MM SAE EZi%iE, THBIEH constant horsepower control,series 2.0,clockwise rotation,

Keyed shaft , SAE side flange connections,
without auxiliary equipment.




HA7V2.0 #|iLE #i& 20 ~ 160
HA7V2.0 Section Series20 ~ 160

LA A& 250 ~ 500
HA7V5.1 Section Series250 ~ 500

y_J
ﬁﬁ

BRI E

HENGYUAN HYDRAULIC

1 BiEih Oil seal kit 11 S Control rod

2 i ESF Front cover 12 TEREE Variable shell

3 fshi Shaft 13 S SEkt Assembly parts

4 b Centering spring 14 EHESRTE Adjusting spring

5 HEAH Pistion 15 e ST EeT Adjusting screw

6 Ul FF Center pin 16 TREE Flow piston

7 INTR R PR AL SR ET Limiter screw 17 KRR ERET Limiter screw

8 ESEE Pilot piston 18 i £ Valve plate

9 KW Bigger power spring 19 Gk AL Cylinder block group
10 | /NDhER3EsE Smaller power spring 20 E1R Retainer




HA7V RIIEBHER

Variable Displacement Pump HA7V

oifiiRSE B Temperature Range: -25 ~ 80C
o #5ESE Bl Viscosity Range:

| SRS cnrerenenes 10 MMPs
b e ( S2RT short periods) 1000 mm?/s
¥ T{E45FF Opt.operating range: ...................16 ~ 25 mm/s

i 728 S #iE$E choose the type of the hydraulic oil:
HEFEE A L-HM46 = L-HM68
Recommend to use L-HM46 or L-HM68

o7& [Eim HY3 i Filtration of Hydraulic Fluid:
WFLIRBES 10um, FRAT{EM 25 ~ 40pm B9,
BEA 10pm MREREAFaG ( ERER )
Recommended filtration 10um. Coarser filtration of 25
To 40um is possible. However ionger service life is

achieved with filtration of 10um(reduce wear)

ez 18 Flow direction:

IGRt§t: S B B; #ERtEt: SE A Clockwise: S to B; Anti-clockwise S to A

o T{E[EH3EE Operation Pressure Range:

Wil O A =% B 4RI ) Pressure at ports A or B:

#EJEH Rated PrESSUIE:+++srsssssssrassnsaanns Pn=35MPa
ﬁ‘ﬁE 741 Peak PrESSUrg::=++srresssrnsrerserans me=40MPa
ik O S 4bRY4a4E A Inlet Operation Pressure at port S:
Pabs - POOCCEROn0O OO OOBMPa

P crereenreanna0.2MPa

oS % Parameter relations

V xnxn, )
i Flow 9= —7000 — [Umin]

=1.59ngx&D B Vgx&p

IXzZh4%E Drive Torque oxn, - 20xaxn. [N.m]
. Txn _ 2nxTxn _ q\,xan

RaHZhE Drive Power P=—9849 = 60000  ~ 600xn

V= SR [om?] Geometry displacement each rotate

A= E= [bar] Pressure drop/differential

n= ¥i# [rpm] Rotary speed

n= BRHE Cubage’ s efficiency

N,.,= M—il R Mechanical-Hydraulic efficiency

n=BE (n=n,xn,) Overall efficiency

1

kW]



&7 EREE

HENGYLIAN HYDRAULIC

BASHR (EitEH, REBVHMBESETRYE)

Technical data Form(theoretical values,without considering n_, and n )

Wi Size 20 28 40 55 58 80 78 107 117 160 250 355 500
TRA 3 Control Device
LV {EzhZ & Constant HP control . . .
DRt/ #® Constant pressure control . .
EL RS LEfIZER Electrical control 3 5 .
HD #&#= % & Hydraulic control 5 5 .
MA FzhZER Manual control . . . . . . . c . . .
Hel V max (MUT) 205 281 401 548 585 80 78 107 117 160 250 355 500
Displacement Vo (MI/T) 0 8.1 0 158 0 231 0 38 0 461 0 0 O
BEtE 3 0.09MPa()n_,0.09 (/min) | 3800 2800 3200 2360 2850 2120 2540 1900 2240 1650 1400 1250 1120
® g 0.10MPa)n_0.10 (/min) [ 4100 3000 3400 2500 3000 2240 2700 2000 2360 1750 1500 1320 1200
Max speed g‘f 0.15MPan_0.15 (/min) | 4750 3600 3750 3000 3350 2750 3000 2450 2650 2100 1850 1650 1500
e gf n..0.09 Q_.0.09 (/min) 76 76 124 125 162 165 192 197 254 256 340 430 543
@ g n,.0.10 Q_0.10(/min) 8 8 132 133 170 174 204 208 268 272 364 455 582
Maxfiow & 0 150 0.15min) 94 98 146 160 191 213 227 254 301 326 449 568 728
BAE fomo-OQ T P..0.09 (kW) 46 46 75 75 97 99 115 119 153 154 204 259 327
Max power g’fc},__o.m T P,.0.10 (kW) 49 49 79 80 102 105 122 125 161 164 219 274 350
AP=35MPa ffomojs T P_0.15 (kW) 57 59 89 96 115 128 137 153 181 196 270 342 438
ik Flow2 g’fnaﬂ 450r/min T (Vmin) 282 395 564 771 823 1125 110 1505 164.6 225 3516 499 703
ThE# Power gf ne=1450r/min 35MPa T~ (kW)[ 17 24 34 46 50 68 66 91 99 135 211 300 423
H%E E Vo AP=10MPa(N.m/10MPa) | 326 447 638 871 93 1272 124 170.1 186 254.4 39753645 795
Toraque M % V. AP=tOMPaN.wiOMPa) | / 129 / 251 / 37 / 49 | 733 [ | |
BAHE gf Vimax 2 P=35MPa (N.m) 114 156 233 305 326 445 434 595 651 890 1391 1976 2783
Mmax.Torque 3 V a2 P=35MPa(N.m) / 45 / 88 /129 / 171 / 275 |/ /
e 46 Moment J (kgm?) |0.0017 0.0017 0.0052 0.0052 0.0109 0.0109 0.0109 0.0167 0.0167 0.0322 0.088 0.16 0.27
i Weight (kg) | 19 19 28 28 44 44 53 53 76 76 105 165 245
iE: Note:

OFFREAHWMO S B3 ES , BFE Vomax B il TIER,
@LLERKEH 97% TR,

QEEMTIERS TREENTBEIRMO S % 0.15MPa THRHH
#o B3f V, >0 KM 28-20, 55-40, 80-58. 107-78, 160-117,
AR MR (Vv ) SHFBAREBNFE, ERaFEREE
BV, =0 BFPLMAEHIEIE, B: MiEH 28, vV =28.1mifr, FHEE
BB 20.5mlr, RIFRATES 94(Umin) BHRT, X EREHEATH
3600r/min, #2 % E| 4750r/min,

(1)The values shown are valid for Vgmax,with an absolute pressure
at suction inlet S and when operated on mineral oil.

(2/Caculated with a volumetric efficiency of 97%.

(@Pump's speed don't exceed the permissible max. speed at
0.15MPa in suction S on those sizes with V__>0,however the maxi-
mum speeds can be increzed to the values for those sizes with
ngin=0 by reducing the displacement[Vchgm) and maintining max
flow,the relevant sizes are 28-20, 55-40, 80-58, 107-78.
160-117. for example size 28,\!””:28.1 ml/r,reduced the displace-
ment to 20.5ml/r and keep the max flow is 94L/min,the max speed
can be from 3600r/min to increase 4750r/min.



HA7V RIIEBHER
Variable Displacement Pump HA7V

o 5t i #EiE Nperm FIH OE S P, WHMISHERE, FAISAERREHE (ISHE) RS
RARSRBEN.
ePermissible speed Nperm and suction pressure P_,_ can be read from the nomograph.However,
the max speeds(see table)and min,nad max-suction pressure must be taken into account.

Nypern (1/Min)

6000 5000 4000 3000 2000 1000 800 700 600
Lodndvd b Ly 1| | Ll ||-|| donben bbbyl ol
| EA | ||"|
0.6 0.5 0.4 0.3 0.2 0.10.091 0.07 Pabs (0.1MPa)
0.08
I Il
E Bl : 447 #A& 55, ¥iE 2700r/min,
2\ T K: WO S ABRIES
S 8 B8 = #: M n =2700r/min S 55 FAGERL | 54
Bk || [ 111 I HFAR, MASBBX (FXEH) EHLEH,
B B#: P, =0.117MPa
Example
¥ IUE% Given:size 55,Drive speed 2700r/min,
Required:pressure P__ at the suction Inlet S
Solution:Line I on scale n_ drawn towards size
55 crosses line H at point A.line II from point A to
point B(open circuit)gives
the result:P_ =0.117MPa
H A

o #l1& 250~500 Wim A S AW &R EH S5HEE M, HERMERITE
Size 250~500 Calculation of Inlet Pressure Pabs at Suction Inlet S and of reduction in Displace—
ment at Increased Speeds

Tl
1.7 \ \ T \ . 47 A% 500, IEBHFEE 1320r/min
- | \ B J a.‘,_v ki ;: g:; SHEAP,,
A ' n _ 130 _ .
0\\ Nowos 1200
; e ERKZM TR P, =0.12MPa
5 . B \ MBIAGIENE P, =0.1MPa FHEEEFE, TH
& BAA/NE] 87.6%.
=
N Example:
1.2 R Given:Size500, Drive speed 1320rpm
E Required:pressure Pas at suction inlet s
é Solution:_
1.0 speed ratio _ 1320 _, 4
Minaxo.1 1200
gives an inlet pressure of P =0.12MPa at full
0.8 swivel.
0.35 0.4 0.5 0.6 0.7 0.8 0.9 1.0 If for examble free flow is only possible with

P_ =0.1MPa,the displace ment must be
HE#&E LE Displacement(V /V .
o a VeV oma reduced to 87.6%.




S BERE

HENGYUAN HYDRAULIC

Joe Vg i
e Z¥(IE Mounting position: e
fHit, RAXATHREER; HHREEHBENKO R AEE
RIEUT, Meil ORI AR/NRERO/MEN 90° Fk,
Optional.Pump’ s housing must be filled with oil;When Mounting
within a-tank the plug must be removed form port R and this port E1 Fig.1

must be at the top. 90° pipe bend to be screwed in. SrEmsEEM, WO U1, U2 51 R MEREET; X
FIERMAINER, REBHLAERO VI HU2HS,

o IR ZhA 6] L HIEE % 3E Drive Shaft Up Vertical Setting

M MITERE U1 1 U2 HES ( A=A “Fwilm0 Ul For this case a model with ports U1 and U2 must
fU2” ), RIEREAAEET “A” &, WEA1 T, be ordered(indicate In clear text: “with ports U1

and U2” ).The minimum oil level must not Fall
below the “A” line,as shown in Fig.1.

o ZIETEMAETINAD Mounting on top of oil tank

A7V ERRETHEMBOZRABHREZR, RRESESRFTEH,

1) HEMEHRER, ARERLTERXER (V) BB, HEATASNER vV, FROR (V
RGBT H AR NRB=>RARE YV, x5%4%, BHILHRETRBER, EREEHRZ.

2) REAMBMET, ITHEMNEAXFRR “AFHELAZE"

3) mERBHOMELY, BRHERRFEEE, BRERKREEET 200mm, Wil E A R AFIERERE 0.8 ~ 1.0m/s Zi8,

=0 RIM3R ), BhiAE

gmin

ZRFEELE?2 AR _

. : : : ; Wl o Filled (3l and Bleed Air
Mounting of the A7V pump above tank must be cinsidered as a special pump installa— Suction Bend Pipe ; L S
tion and should only be realized under specific conditions 5 i T ) )

1)With various control device,pump’ s angel is max.(V,, ) before start. Further to _ Al j
adjustment form Vgmin before start(ng,n=0}.The min.flow screw limiter must be op- L ;]) | e H:|
eration at Q=0 7 b
2)Pump equipped at top of oil tank,when ordering need description “use for set on oil
tank” .

3)Pump” s suction port should be located up. And also the suction pipe is possible
shorter. The pipe end should be low 200mm than oil. The flow speed in suction pipe
should keep speed between 0.8 ~ 1.0m/s. Mounting as Fig.2.

A7V ZER 2.0 R, REAHAE, IAREE, ERXENNARR:
A7V pump 2.0 series,mounting on top of oil tank,different Size and speed . pipe length and watch
for inner Diameter

Lmax

@2 Fig2

o P R e A kA€ ZEREV=0.9m/sFaV, T3 AR E M (mm)

) Max.speed Max.length of suction pipe Calculated suction pipe(mm) at flow velocity=0.9m/s and V.
=) Nmax(r/min) Lmax(mm) & speed nmax(r/min) #EEFspeed ne=1450max(r/min)

20 3610 600 41.8 26.5

28 2660 600 42 31

40 3040 750 53.6 37

55 2240 750 53.8 43.3

58 2700 750 61.3 45

80 2015 750 61.6 52

78 2410 750 66.6 51.6

107 1800 750 67.5 60.5

117 2125 850 76.6 63.3

160 1565 850 T 74




HA7V R5IEFHER
Variable Displacement Pump HA7V

LV 25 2N EEARTR, RIBHHEEREHIRE, EhREHOREEEE:

P=AP x Q/60= &4

A P IhE (kW )AP [EZE (MPa), Q it ( Umin ) TIEENMERAEASES L, BdSHEREHEIIETEE, EXSH
HNEREE, WROBRAV, @V, 25, SRR (SDE 3 TEHHRE ),

LV Constant horsepower control regulates flow in relation to pressure and makes out—put power constant that is:

P=AP x Q/60=Constance

P:Power(kW).AP:Pressure difference between input and output(MPa), Q:Flow(L/min),Hydraulic pilot force acts on a side of pilot
piston.When it overcomes a pilot spring force arranged on the other side of the pilot piston,the pilot oil is fed into the cave of con—
trol piston.The pump swivel angle from V___ to V. swing.Then the displacement will be reduced(Viewed on Page three Section).

gmin

oI HI#E = 8 5MPa RtEThZE = H| Start of control at 5SMPa

A(B) R
¢ -
EEHO G RO C IS HP %) ! ©
Through port G via throttle port C can carry on i /[ m LV
high pressure control(summation HP control) 7 Al '—— -
S

s Q/Qmax

A(B)

o H AT 12 PR AL 25 Y 1B Th Z= 4=

Constant HP control with stroke limiter >
BB TFHMATIERMAS, TUXEETHREEAHIE, RBEETERE

s
L
]
HHETMV,, BV, : _/ m::' (
H

By means of a mechanical stroke limiter, The max,dispacement can

G

be infinitely varicd or limited,Adjusted range from vV to V,

gmin

L

o R EITIERALZZ AT TS
Constant HP control with hydraulic stroke limiter .
REATRRABBEE D TEES 10% MASES (X1 0) , HHE - -
s X1 OEBKREESH 20MPa, MEMHTAEEAMF 5MPa Pt
FIRER, WEEHRDO X2 LMAF/MF 5MPa BIftRES, XETE G
WO X1 BEMEHH 5% 10%=0.5 ( MPa ), E
A pilot pressure(port X1)of at least 10% of the operating pressure is

LV+H

required for the hydraulic stroke limiter,max.permissble pressure at

port X1=20MPa(for all sizes). If it is required to limit the flow at an

operating pressure < 5MPa then a boost pressure of min.sMPa must
be applied port X2(at port X1 then,min,10%=0.5MPa).

S C Q/Qmax



S BERE

HENGYUAN HYDRAULIC

o [E BRI TR H

Constant HP control with pressure cut-off
BRT V,,,=0 MATAREENERSEBENRZHERM L Em—MEEEH, TEBTRFRREIR, YENLIEEENNES
&t (ETEEES 31.5MPa ) |, I @FTFF, FREERNE/NE Q=0,
Be used for all kinds of size V_ =0,Pressure cut-off is base on constant horsepower control carry on a constant pressure control.It
ealized operating by order valve.When pressure up to setting pressure(max),(adjusting pressure range to 31.5MPa),the order valve

will be opened,then the flow will be reduced to Q=0.

IR SRAFRIE Mk 20~117 IR SR FFRE g 250~500
Order valve and pump separately fixed.Size 20~117 Order valve and pump separately fixed.Size 250~500
AB) T R A(B) R -
< x m
X G XG i i
L : | [ : | | I
] t I 1
| ‘_/ "'"'I'l“" DZ10
!r '| | i i
i - P /14
7 e 7'M 5]
S RILENA | B L X ]
S L T S T LiJ
DZ5 fF & 250, DZ10 FAFi4g 355-500 DZ5 used for size 250,0Z10 used for size 355~500
EEES TS IEE DR 2 Continous operation in zero position please view the constant
R RO T 5% SERO T1 SAEREERE (A0 ), B e ,
Note:Order valve port T and pilot valve port T1 must be con-
nected with oil tank(cooker).
- = e AB) T 77
o HE N (1BI2 ) FMEITIRIRAAEI) R H = L
Constant HP control with pressure cut-off(remote) e
and hydraulic troke limiter < .

IR RS RS FRE, ETURERE EEMBESRIA (8= ), &
BERKAEBE 5m, IFFBSRIRALIMITE,

The sequence valve is mounted separately from the pump in any suit- { ” | p H
able location on a subplate(remote control), The max/sigle pipe length E DE:lZ[ §<> .@(/\
must not exceed 5m,Order sequence valve and subplate separately. ! i LRS! X3 T 1
d Lt A X1 |
S Ti

o E N ERAMREITIERAAVIETh ZRIZ H AGB)
Constant HP control with pressure cut-off and hydraulic %
troke limiter

AB TiEmmO Perating port O-I

G T HP #=HIBYMO  Summation HP control port

R H=50 Port o drain air

S Rt i O Suction port

T1 SESimEliHm O Pilot port

X1 K&EHO Pilot pressure

X2 EEEHO Remote pressure

A1, X3 | EE®HO Ports for remote control valve
lRFFREEEAER L, MHE 250-500 Order valve fixed on pump directly Size 250~500

DZ5 R Tt 250, DZ10 A-T##& 355~500 DZ5 used for size 250.DZ10 used for size 355~500



HA7V R5IEFHER
Variable Displacement Pump HA7V

EEEHREMEHAEERN, REREENEEATHRABTAHHN, EERNREBELEABMAFTHRERE, YTHEENS
HigEEAM, MRS BB EAA/MEMHERRE D, FRERRREEAERLRE (HAK), ME—FMATEENSEBNE
B 7 88 38 T I 1

The constant pressure control remains the pressure in a hydraulic system constant within its control range in spite of changeing
pump flow requirements.the variable pump supplies only the volume of fluid required by the services.Should operating pressure
exceed the set pressure,the pump is automatically swivelled back to a smaller angle. The required pressure is set either direct at
the pump (valve built-in,standard model),or at the separate sequence valve for the model with remote control.

it Size 20~117 250~500 Standand model:Set pressure from 5MPa to 35MPa.
P . (MPa) 1 1.4 Remote model:Set pressure from 5MPa to 31.5MPa.
eDRIEELZE (BAEK ), tRER eDRIEEERE, EHEE
Constant pressure control (valve built-in),Standrad  Constant pressure control ,remote
A(B) B AB) A1 R
i L T
LT e

JI-
—
=
-

=
=

{
S (I !

X3 A .

i AR B SR IIT 5 S TLLd
JGEFF im0 T s sk imeE (SEER )o & 20~117 BRI B iE)
AR ERP R R E RS E L EEEGIRIEE Size 20~117 Adjustment times
&5 2MPa,
B ERKKEREEL 5m, Mtk Size 20 |40 [s8 (78 [117
Note:Order sequence valve and subplate separately. V. -V te(s) HIE

. gmin | gmax : 0.16 | 0.2 |0.25|0.25 [0.3
Port T from the sequence valve must be piped separately to pressure untoading 35-5MPa
t.ank A pressure relief valve instailed in the system for prute.c— VoV té.’(s) B F 0.03 | 0.04| 0.05 0.05 l0.06
tion of fhe max.pressure must be set 2MPa above the setting pressure built-up 5-35MPa

of the constant pressure control.

The max.single pipe length should not exceed 5m. X F I8 125 (8] 2 L 3R e 1 3 5

The valves in the table are increased by 3 times.

oHEXT{E Parallel Operation
HETIE: LA A7VIEETERHEITER, HEESFEHEN

AP=15MPa, XBXI{ERf, SEREFEEEAMIAFE, EITHEM AB IO Perating port
HIE “FERTE, R #i=0 Port o drain air
For parallel operation of several A7V pumps with constant pres— S e a] Suction port
sure control. A steeper curve is used for the constant pressure T %SHEmO  Pilot port
control(AP=1.5MPa). =
A1,X3 WO Ports f t trol val

please indicate this requirement in text after the type code when BEAY orts o Temo7e contro’ vave
ordering “parallel operation” .

4=10 ke e
o fTHEBRAL Stroke Limiter The max. displacment can be steplessly limited be-
BB TIMITRRAER[ATERAHBLRGENE V-V, Z tween V__ toV__ by means of a mechanical stroke

B, ¥ILVER, limiter For details see control device LV.




S EBERE

HENGYUAN HYDRAULIC

o FITIRELTIE

Contionous Operation in zero position

EMREEA 1450/ min TR T, REEARMNRER, EF
fTREEZETIERE, RREENELITRER:

The indicated values applicable at the pump speed of
1450r/min.zero stroke operation without flushing of housing.

58/} 18154 Short periods < 10min fAtiEliE%% Long periods
RRAFEN BEATRE mEAFEN BELFER
Max.pressure | Max.Temperature | Max.pressure | Max.Temperature
P .(MPa) trm[‘t)] P, .(MPa) tmu("C)
31.5 50 20 50

FEMRERNETEIME
Zero stroke operation with flushing of housing

Shimi O
Connection for flushing fluid

K} EiE% Long periods
BEAVEND BERIFRE
Max.pressure | Max.Temperature

P_ (MPa) t max("C)
31.5 50

#4% Size 20 | 40 | 58 | 78 | 117250 | 355|500

ﬁﬂﬁﬁ!(Uminl 2 4 5] 8 |12 |125|16 |25
Flshing flow
SN InimA R IR S/ TR

Temperature of flushing fiuid <tank temperature.

i LB ATV RETFIRAMAE P 2 31.5MPa TEEF(TRIEN, SHRMt=_ERIMMEAOTBIZHERE,
Note:When mounting the A7V on top of tank and at zero stroke operation for longer periods of time at pressure up to P, 31.5MPa a min.folw=
corresponding to flushing folw as inicated for each size in the above table must be set instead of case flushing.

BIELL Gl R R RF RO E, RERSBRER
AIRIEL, B SBEkRBREERIEL.

7 F#4& 20~160

EHBBMEE—1TEESD 24V (12V), Bif # 300~630mA
(600~1260mA) HIE IR,

fEHI#E S 49 300mA(600mA)

{2 HIL S 2 630mA(1260mA),

- F#M#E 250~500

FEH R ERRBIE S 24V, Bifih 350~800mA BB B,
il 2 350mA

f 2 5 4 800mA, T M Vgmin E Vgmax, 1%E K @EH

(Voo BV, ) EERAFRE, ORESLRHKTIEES <
4MPa, il O G ;A 4MPa IS EN
A(B) R
X
Lil
O O G
[
[: _/I |\vn‘v
A
! VAL S rv\
! /
il Al
S

The electric control permits stepless and programmable
adjustment of the pump displacement.pump displace—
ment is proportional to the solenoid force,i,e,the
strength of solenoid current.

For to size20~160

Control solenoid valve need a DC 24V(12V)and current
300~630mA(600~1260mA).

Start of control current apporx.300mA(600mA)

End of cocontrol current apporx.630mA(1260mA)

For to size250~500

Control solenoid valve need a DC 24V and current
350~800mA

Start of control current apporx.350mA.

End of control current apporx.800mA

Control adjust from Vgmax if need anti-control(from
Vm‘ to ngin)please inquiry from HengYuan company.

If pump is to be moved out of the zero position(Vg=0)or
the operating pressure < 4MPa,a pilot pressure of 4MPa

is necessary at port G.

o5t iE Time For Adjustment

& Size 20 40 58 78 117

28 | 55 80 | 107 | 160

VooV grma trin(S) 016 | 0.2 025 | 025 | 03
V-V tminmln(S) 0.12 0.16 0.2 0.2 0.25

it: RAATREERETIIEES P =20MPa B3I,
Note:The viewed time in form is pump’ s operating pressure
P,=20MPa.



HA7V R5IEFHER
Variable Displacement Pump HA7V

Y A= Hysteresis A hysteresis of +2.5~4%(approx.) is present in the control because
— N of the electric/hydraulic control(reffered to the complete adjustment
BFRS/ BERHI X Vomn 2 Vomax B ATSEE N ) range \!g to V__ ).The repeatability of the pump position.when

FEEBIPAT +2.5-4% MiEER, SNE—TTERHNH, starting fr"c‘;nm 1hegsmaa)|:ne direction is around 2~4%.

RUBNESHEENN 2~4%. Note:mounting of the pump with EL control inside the oil tank is
E: AREERATHHEERFEENREBREARKXT  possible,only when using mineral hydraulic oils and with a max.oli
80CH}, ARLUGHE EL EHIMREEHMAEN. (FH  temperature in the tank of 80°C.(If the pump is to be submersed in
RiRfmR, EITHRNELERA ) oil.please indicate in cleat text when ordering)

o ENERHIEB S L FI#=4] EL Electric control EL with pressure ctu—off
AFFEV,,, =0 i, I HD &%, S BAEEESM®ITHE,

For all sizes with V__ =0 ,for description see control device HD,Order sequence valve and subplate separately.
FAF#4& 20~160 For size 20~160 FF##& 250~500 For size 250~500

A(B DZ5
A®) By | EE BERAO A RRE L 1=
I (o)
o e Note:port A from the sequence G

must be piped separately to

tank(cooler). Dill]
i L g DZ5 AT 250,
. Xi , DZ10 A -F##% 355~500
' ¥ A I - DZ5 used for size 250,
e X : e b | DZ10 used for size 355~500
S [
_ 0 Port G E#EEHDO  Remote pressure port
A, B | T{EiO  Perating port FEB i 4 T VR TR 3% MAEEZ % DR R #50 Port drain air
S Wi O Suction port For details see constant pressure control DR T %&#[E# A Pilot port
A1, X3 | EB#E#ik O Ports for remote control valve

WELHEHESENKNEMOEHRGHR, WHRSMO X1 WASEAEREL, 48 HD 1 2 rE@H (v, 3
Vo ) O X1 MSESE DTGB IMPa, WHMV,, BIV, o ERAEREER (V,, BV, ) ESENAE 1MPa, iRk
EAMIGEEEM 0.4-15MPa, FEMEHMNSERBNE, EXRBENTEENS MPa, % TEENETIER, B

A X2 #EN 4MPa 15 R EN, £& X1 Abad4thEL 2 0.5Umin, LAFMFEIEALAYER .

The hydraulic control, pressure related, permits the stepless adjustment of the pump displacement in relation to pilot pressure,
Adjustment is proportional to the pilot pressure at port X1. When using the HD control as 2-Position control{ngln to ngax),the
pilot oil pressure on port X1 must not excess 4MPa.

Adjustment is fromV_ toV

The increase in pilot pressure over the complete adjustment range is 1MPa.The setting range for commencement of control of is
0.4MPa to 1.5MPa. The necessary control oil is taken from the high pressure circuit, and a minimum operating pressure of 4MPa
is required. If necessary apply pilot pressure of 4MPa and port X2. The oil flow at pilot X1 is approx 0.5L/min.

2.5

A R =8| 2.2 L
| X Bel « -
£g| 2 =
TO"} X2 ;§ 1.75 — ]
1 .- -
1 ‘;%1 1.5 >
: ; =1 1.25 =]
: :;:& ) /
i =011 —
¢ ot -
! 8 0.75 ——
d 545 0.5
! S04
! o
; 0.25
------------------------- ==
S X1 0.10.20.30.40.50.60.70.80.9 1
. TRESE Yy
HD Aizsik Commencement of control at Vorin Vi

Hydraulic control-pressure relate,HD



S BERE

HENGYUAN HYDRAULIC

o [ENERMIZTE HD  Hydraulic control,pressure related with cut-off

AFHA V=0 Mi&
%Eh&ﬁ%ﬁﬂﬁilﬂﬁﬂﬁﬁ%ﬂiﬁ‘]ﬁﬁ, PERBEMEMNTIEES, WIHE BIRFRAEER, ETEENEREEE
31.5MPa B, Z@TH, EHRTEEH TR Q=0, HIFFHE. REMPTRE, TRHEHTEERRETEASEHM#TES, &
KEFEKERBAT 5m. IFEEERERIMITHE,
For all sizes with V=0
The pressure cut-off serves to limit the flow as a function of high pressure so that a predetermined Operating pressure is not ex—
ceeded. This function is not carried out by a sequence valve. On reaching the set max, pressure (adjustment range up to
31.5MPa),the valve opens and the flow is automatically reduced to Q=0.The sequence valve is mounted separately from the pump
in any suitable location by means of a single pipe length should not exceed 5 m. Order sequence valve and subplate separately.

FTF Mtk 20~117, For Sizes 20~117 FIF##& 250~500, For Sizes 250~500
AB) A R A(B) % [)2_5
0 g e OXXe | St O~ Xy,
i HD4D ro
t I t b= d
ot | Pe : DZI0_.  bzs mF 4 250,
VAN IR T Q 2 & I' DZ10 fF 04 355-500
I LXai b AT S Pl MM DZ5 used for size 250,
il e v A O B Qux | A
S ' L + ‘1 DZ10 used for size 355~500
= S X1 LTy
EE: AFRHO A BehEhE (SWEE) —p
Note:port A from the sequence must be piped separately to tank(cooler). foﬁg:fif::rﬁ:f:ﬁfﬁfggzl OR

o FzhiE#l MA  Manual Control MA

BN FRED TR EERERGMAEE, FEERMTFERBARILIYEES, NMEREV,,, EV,, CEBAX

Tt T HHARE,
By turning the handwheel, a piston is moved in an axial direction by means of a threaded splidle. A carrier pin moves the port plate

on its sliding plate, thus permitting stepless variation of the pump displacement athe range V_ to'V___.

£tk RX i A Qil port:
L AB IO Operating port
b S Wi O Suction port
R HS0O Port drain air
; LB SeSihEH O Pilot oil return line
{ X1 #2FEH0O  Pilot pressure port
== X2 BEENO  Remote pressure port
S A1,X3 B im0 Ports for remote control valve




HA7V RIIEBHER
Variable Displacement Pump HA7V

oHA7V e ER IR IEE  HA7V rotating part explosive view

1, BHmE

2, BHE

3. BESH

4, TRMEE

5. {EFAHH

6. AN
7. {Eh AR
8. BEE

9, kMmUY
10, S#

11, fEzhE e
12, WHNELE
13, AR HE
14, US4

15, W4T

16, EHRE
17, EHE

18, EHE

19, AR

1. FLAGE Y M
2, WH%

3, ORE

4. Bigimt

5. AR E
6. TS

7. W%

8, HiRiEER
9. HiEK

10, HFRMEE
11, BR§waR

12, EREh&

13, f5zhi

14, i

15, dulvFi
16, HlEl AR
17, AR
18, FlEE B
19, Ful#

20, HEAH
21,
22,
23,
24,

HA7V-LV variable part explosive view

Sealing plug

Seal ring

Screw

Variable piston

Pin rod

Pin rod spring seat
Big Spring

Pilot bush

Retainer pin

Pilot pin

Small spring

Spring adjust washer
Cover plate spring seat
U type snap ring
Adjust screw

Sealing nut

Adjust seat

Seal ring

Adjust spring seat

20, EHAT|AEN Start varable spring

Retainer ring

Shaft cap

O-Ring

Shaft seal

Shaft retainer ring
Front disc spring
Bearing spring
Bearing washer

Ball bearing

Bearing spacer bush
Ball bearing

Ball bearing

Drive shaft

Key

Center snap key
Center snap spring seat

Center washer seat

Center spring

Center pin

Plunger component

Retainer plate

Screw bolt

Cylinder block

Valve plate

21, EM#®  Setspring
22, EEEE Spool spring seat
23, EBM@H  Pilot spool
24, %£5M@IE  Pilot bush
25, O BME O-Ring

26, O A O-Ring

27, MR Damping
28, WE Plug

20, EHEE  Sealing plug
30, 3¢fEE  Washer
31, #%7 Bolt

32, EHWE  Sealing plug
33, HHWE  Sealing plug
34, % Control cover plate
35, £RiEE  Pilot piston
36, O B O-Ring

37. T Housing
38, EHEE  Sealing plug
39, FHEE  Sealing plug
40, = Plug



L EBRRE

HENGYUAN HYDRAULIC

TSR F &5 2.0 #1#% 20-160 Unit Dimensions Series 2.0 size 20-160
oEIZ4=4I LV Constant horsepower control LV

Al
A2

Z splined shaft DIN5480
S splined shaft GB3478.1-83
ZAEHEDIN5480
SIEHIGB3478.1-83 )

7

GHi¥EPIug &
/ 4027 |

A7 _

__©Al4h6
.
r‘:‘}me

A0

PEHGBI096-79 = -
Parallel keyed GBI 096-??
\ Zn)
Z Direction

WO R

Anti-clockwise Rotation Mode

JEJMNSAE 5%
Pressure port SAE flange
A38

ase \ A3

THON FARIE iRk
T1 used for with cut-off only

SRECI N
Thread port \ 1

A36 )
ENRULIRRHTIT b
Alused for with cut-off only
ot | e e Y
Clockwise Rotation Mode
B
——
XebUI T4y ke
X1 used for with cut-off only
X2 ¥EPLug
\ A5
i
8
<
1
Qil port
WY AEFRMGES (BTLV) T{Em0 Operating port
Auxiliary equif fydraulic stroke limiter(for LV) -
. . Wik 0 Suction port
Tt N LV DR -
= m:::: 1“?“’ o bbinh ] R =0 Air bleed port
LV and DR) T1 SSHMmERO  Pilot oil return line
. PERGB1096-79 X1 %£&®EAHO Pilot pressure port
. parﬂ"cl;c?}'cd GB1096-79 X2 EBEEAO Remote pressure port
s Y A1, X3 | iBiE@HO Ports for remote control valve
G EEEAD Remote pressure port




HA7V R5IEFHER
Variable Displacement Pump HA7V

o fEINEEH LV £7F 2.0 #H& 20-160 MR~ &

Constant horsepower control LV series 2.0 Size 20-160 Data Form

#MigSize| a° Al A2 A3 Ad A5 | A6 A7 A8 A9 | A10 | A11| A12 | A13 |‘FEDeep Ald4| A15| A16| A17 | A18 | A19 | A20
20 9 251 | 224 | 199 | 107 75 16 25 8 43 28 80 | 160 | M12| 20 100 M8 | 21.5| 85 52 20 38
28 16 | 260 | 232 [ 195 | 107 | 75 | 16 25 [ 43 | 28 80 | 149 | M12| 20 100 M8 | 215 95 | 50 | 34 | 38
40 9 317 | 287 | 255 | 123 | 108 | 20 32 10 35 28 123 | 244 | M12| 20 125 | M12| 25 95 63 23 50
55 16 327 | 296 | 251 | 123 | 108 | 20 32 10 35 28 123 f Mi12| 20 125 | M12| 25 ! 63 4 50
58 9 374 | 337 | 304 | 152 | 137 | 23 32 10 40 33 152 | 295 | M12 | 18 140 | M12| 30 106 | 77 | 26.5 | 63
80 16 385 | 351 | 300 | 152 | 137 | 23 32 10 40 33 152 / Mi2| 18 140 | M12| 30 77 48 63
78 9 381 | 347 | 310 | 145 | 130 | 25 40 10 45 | 375 | 145| 298 | M12 | 17 160 | M12| 35 113 | 80 29 63
107 16 393 | 358 [ 305 | 145 | 130 | 25 40 10 45 | 375 | 145 ! Mi12| 17 160 | M12| 35 80 50 63
117 9 443 | 402 | 364 | 214 | 156 | 28 40 | 12 50 | 43 | 174.5| 350 | M16 | 24 180 | M16| 40 | 130 | 93 | 33 | 75
160 16 454 | 414 | 359 | 213 | 156 | 28 40 12 50 43 | 1745 / M16 | 24 180 | M16| 40 88 58 75

#MiRSize| A21 A22 | A23 | A24 | A25| A26 | A27 | A28 | A29 | A3D| A31| A32 | A33 | A34 | A35| A36 | A37 |®Deep A38 | A39 | A40 | A1
20 69.9 94 | 357 78 132 | 95 1 23.5| 125 58 58 118 | 50.8| 19 23.8| 46 M10| 17 193 / 19 !
28 69.9 94 | 357 | 59 145 | 80 11 235| 125 58 58 118 | 508 19 | 238]| 46 | M1O| 17 189 / 33 !
40 77.8 | 102 | 429 | 87 166 | 109 | 13.5 29 | 160 71 81 150 | 50.8| 19 23.8| 53 Mi10| 17 253 | 261 23 98
55 778 | 102 | 429 | 64 182 | 91 135 29 | 160 71 81 150 | 50.8 | 19 23.8| 53 M10| 17 249 f 40 /
58 889 | 115 | 50.8| 93 168 | 113 | 13.5 33 | 180 86 92 165 | 57.2| 25 27.8| 64 Mi2| 18 301 | 313 26 | 109
80 889 | 1156 | 508 | 68 194 ! 135 33 | 180 86 92 165 | 57.2| 25 27.8| 64 mMi2| 17 300 / 48 /
78 88.9 | 1156 | 50.8 | 101 180 | 120 | 17.5 34 | 200 89 93 190 | 67.2| 25 27.8| 64 Mi2| 17 306 | 318 28 | 119
107 889 | 115 | 508 | 73 200| 98 | 175 34 | 200 89 a3 190 | 57.2| 25 27.8| 64 Mi2| 17 301 / 49 !
117 1064 | 135 | 61.9| 114 | 195 | 137 | 17.5 36 | 224 | 104 | 113 | 210 | 66.7| 32 | 31.8| 70 | M14| 19 359 | 369 | 32 | 136
160 1064 | 135 [ 61.9| 83 | 212 | 112 | 175 36 | 224 | 104| 113 | 210 | 66.7| 32 | 31.8] 70 | M4 | 19 354 / 57 /

iESize| A42 A43 | Ad4 | A45 | A46 | A4T A48 | A49 | A50 | AS51 | A52 |RDeep| AS3 | A54 | AS5 | A56 | A57 | A58 | A59 | ABD | As1
20 M8 279 | 25 19 50 38 |M27x2| 257 | 226 23 M3 9 108 8 8.8 42 161 14 176 77 104
28 M8 279 | 25 19 50 38 |M27x2| 269 | 234 | 242 | M3 9 108 8 8.8 42 161 14 186 58 84
40 Mi2 33 30 28 60 40 |M33x2| 323 | 290 | 279 | M4 10 134 10 | 11.2 / 184 16 204 85 117
55 M12 33 30 28 60 40 |M33x2| 337 | 299 | 292 | M4 10 134 10 | 11.2 / 184 16 215 62 98
58 M12 38 35 28 70 62 |M42x2| 378 | 344 | 330 | M5 12 |1555| 16 18 52 228 24 251 91 116
80 M12 38 35 28 70 62 [M42x2| 391 | 354 | 343 [ M5 12 |155.5| 16 18 52 228 24 265 65 91
78 M12 43 40 28 B0 | 55 |M42x2| 385 | 352 | 338 | M5 12 | 169 | 16 | 18 52 | 236 | 24 | 261 99 | 124
107 mM12 43 40 28 80 55 |M42x2| 400 | 363 | 351 M5 12 169 16 18 52 236 | 24 276 71 98
117 M16 | 485 | 45 36 90 65 |M4Bx2| 445 | 408 | 384 | M5 | 125 | 192 16 18 65 266 24 294 | 111 137
160 M16 | 485 | 45 36 90 | 65 |M4Bx2| 461 | 420 | 399 [ M5 | 125 | 192 | 16 | 18 65 | 266 | 24 | 310 | 79 | 108

smiasize| ae2 | as3 | As4 | Aes | Ass FgEKeyed AB7 FigKeyed FE4#Spline £ Spline - Ro -
GB10196-79 GB1096-79 DIN5480 DIN3478.1-83
20 129 | 35 | 30 | 228 | 92 Keyed 2x 10 Keyed 8 x 40 W25x1.25x18x9g EXT18Z x 1.25m x 30R x 5f 1.2 0.8 12
28 114 | 35 | 30 | 238 | 73 Keyed 2x 10 Keyed 8 x 40 W25x1.25x 18x9g EXT18Z x 1.25m x 30R x 5f 1.2 0.8 12
40 147 | 30 | 30 | 276 | 104 Keyed 3x 10 Keyed 8 x 50 W30x2x14x9g EXT14Z x 2m x 30R x 5f 1.6 1.5 16
55 128 | 30 30 | 288 | 83 Keyed 3x 10 Keyed 8 x 50 W30x2x14x8g EXT14Z x 2m x 30R x 5f 1.6 1.5 16
58 142 | 33 | 33 | 328 | 104 Keyed 5x 16 Keyed 10 x 56 W35x2x16x8g EXT16Z x 2m x 30R x 5f 1.6 1.6 16
80 120 | 33 | 33 | 339 | 80 Keyed 5x 16 Keyed 10 x 56 W35x2x16x9g EXT16Z x 2m x 30R x 5f 1.6 1.6 16
78 150 | 33 | 33 | 336 | 112 Keyed 5x 16 Keyed 12 x 63 W40 x2x18x9g EXT18Z x 2m x 30R x 5f 25 1.6 20
107 126 | 33 | 33 | 348 | 86 Keyed 5x 16 Keyed 12 x 63 W40x2x18x9g EXT18Z x 2m x 30R x 5f 2.5 1.6 20
117 164 | 34 | 34 | 382 | 125 Keyed 5x 16 Keyed 14 x 70 W45 x2x21x8g EXT21Z x 2m x 30R x 5f 2.5 25 20
160 137 | 34 | 34 | 396 | 96 Keyed 5x 16 Keyed 14 x 70 Wa5x2x21x9g EXT21Z x 2m x 30R x 5f 25 25 20
@ESize il 0 Port Wi
X1,%2 A1,X3 T T1 R G AB ] Wight(ka)
20 M14 x1.5 M12x1.5 M12x 1.5 M12x1.5 M16x 1.5 M14x1.5 SAE3/4' OR M27x2 SAE11/2’ 19
28 Mi1d4x1.5 Mi12x1.5 Mi12x1.5 M12x1.5 Mi6x1.5 Mid4x1.5 SAE3/4' OR M27x2 SAE11/2’ 19
40 Mi14 x1.5 M18x1.5 Mi12x1.5 M18x1.5 Mi8x1.5 M14x1.5 SAE3/4' OR M33x2 SAE2" 28
55 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x 15 M14x1.5 SAE3/4' OR M33x2 SAE2" 28
58 Mi1d4x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 Mid4x1.5 SAE1" OR M42 x 2 SAE21/2" 44
80 Mi1d4 x1.5 M1B8x1.5 M12x1.5 M1Bx1.5 Mi8x 1.5 Mid4x1.5 SAE1' OR M2 x 2 SAE21/2" 44
78 M14 x1.5 M18x1.5 M12x1.5 M18x1.5 Mi8x1.5 M14x1.5 SAE1' OR Ma2 x 2 SAE21/2’ 53
107 M14x1.5 M18x1.5 M12x1.5 M18x1.5 M18x1.5 M14x1.5 SAE1' OR M42 % 2 SAE21/2’ 53
117 M14x1.5 M20x1.5 M12x1.5 M18x1.5 M22x1.5 M14x1.5 SAE11/4' OR  M4B=x2 SAE3’ 76
160 M14x1.5 M20x1.5 M12x1.5 M18x1.5 M22x 1.5 M14x1.5 SAE11/4' OR M48x2 SAE3’ 76

o
-



S BERE

HENGYUAN HYDRAULIC

oiH/E#2#| DR Constant pressure control DR
}RAER Standard Model iE$2 8 Remote Model Z [8] Z direction

yai:u,

#11& Size a®| A1 | A2 | AB | A4 | A5 | A6 | A7

Mi& 20 A1 F0 X3 XA TFHEHERA 20 9 [251[134[ 95 |[106[ 38 | - [ -
HS4048 A1 70 X3 ATFEE 40 9 | 315|166 | 107 | 127 | 40 | 14 |53
Size 20 A1 and X3 used for with pressure cut-off only 50 S 1012 ] 160 107 | 158 | 62 J 15 | 69
Other sizes A1 and X3 used for remote control £ D190 10 Tied 171 S0 4 1 L0
107 9 | 441199 | 182 | 165 | 65 | 14 | 83

e % [£#=#| HD Hydraulic Control HD MiESize | | Al | A2 | A3 | A4 | A5 | A6 | A7
Al 20 9 | 248|175| 132|182 | 75 | 190 [147
» X 28 16 | 253 | 158 | 143|195 | 75 | 172 |160
40 9 | 312 236 | 151 | 206 | 110 | 233 [166
3§ 55 16 | 318| 217 | 166 | 220 | 84 | 212 |180
‘Q’% e 58 9 | 367 | 287 | 158 | 213 | 110 | 285 (170
B - ~ 80 16 | 373 | 266 | 175| 232 | 105 | 263 |186
78 9 375| 292 | 107 | 225 | 122 | 290 |182
> = 107 16 | 382 | 270 | 188 | 245 | 106 | 266 |200
o b X1 = 117 9 | 434| 333 188 | 250 | 132 | 331 |200
160 16 | 442 | 308 | 209 | 272 | 114 | 305 [220

A1 0 X3 X AT E A

A1 and X3 used for with pressure cut-off only

Mg Size |[a® |A1 [ A2 |A3 | A4 | A5 | AB | A7 | A8

oS tEfli=%l EL  Electric proportional Control EL gg 1‘2 e e a a, I
" 40 | o 312|267 |201[130] 49 [234| - | 110

55 | 16 |318 |271 184 ] 140] 29 |249] - | 84

58 9 |367 |320 (249 | 141 | 52 | 245|110 -

80 | 16 [373 | 325|231 | 154] 29 |264]105] -

= 78| o 374|325 |254 [153] 55 |257 ] 122] -
107 16 |381 |330|234 | 167 | 31 | 277 | 106| -

117 9 434|381 (294 |172| 64 |279|132| -
160 16 (442 [387 (272 | 187 | 36 | 298| 114| -

#Mig 20 A1 M X3IATFHEDHMA  Size 20 A1 and X3 used for with pressure cut-off only

HEHE A1 71 X3 AT Other sizes A1 and X3 used for remote control
e FZh=H MA  Manual Control MA
Al i Size a® Al A2 A3 Ad
20 9 251 100 108 175
28 16 260 100 108 190
40 9 315 102 134 197
55 16 323 102 134 215
58 9 372 102 155.5 215
80 16 380 102 155.5 235
78 9 380 125 169 246
107 16 390 125 169 270
117 9 441 125 192 261
160 16 450 125 192 285




HA7V R5IEFHER
Variable Displacement Pump HA7V

STHSMER T &5 5.1 #14% 250 Unit Dimensions Series 5.1 size 250
o {EIE$Z4I LV Constant horsepower control LV

Z splined shaft DIN5480

S splined shaft GB3478.1-83 Al
ZAEHEDING 480 A2
S{E#IGB3478,1-83 A3
A4
A G4 plug
Ui 5E plug A6 R 5E plug
— |
~ RAT1 & i Alq E 5
RISy :
s s T\ T 8
T T s AN
— o]
—A7 = | =) ! E
A8 <
A9
A15
~Is50 A10 h
Al12 A35 A36
A13
T1 WA FHENRR
1 used for with cut-off only HE AT
Parallel keyed GB1096-79 R E
PF-#GB1096—79 Anti-clock wise Rotation Mode
Fi Eﬁ, =P /i :
4l Rai1
A45
iRt EHAEREE! Clock wise Rotation Mode
A39 -
S
= ——
A48
A49 AS9 AS59 X1 A60

X2Hi5E plug .
/ )| Gtﬁ-.ﬁ;pllu{s A61
o ": Y ¥
-\

| Wi METEFERLSE (ATLY)
Auxiliary equipment:Hydraulic stroke limiter(for LV)

WBhTiE: MBEITEMAE ( BTFLVADR )

Auxiliary equipment:mechanical stroke limiter(for LV and DR)
mﬁamll‘sl keyed GB1096-79

Pt GB1096—79
A64




L EBERE

HENGYUAN HYDRAULIC

STiESMER ST %351 5.1 #14& 250 Unit Dimensions Series 5.1 size 250
HEtEHAEER Anti-clockwise Rotation Mode

307

-—_'_,_——-T!-——_____ R
45° 45
252
70
44.5
4- 922 G
N A
0260 ;
iy o~
- —— ~
&‘b -

\ ~
wy
~N

A |- <L S
= BIN
@y \/

134 | 128

Bt £HEHE S Clockwise Rotation Mode

f{EhERS LV 5] 5.1 ##E 250~500 MR TR

Constant HP control Series 5.1 Size 250-500 Table of Values for Unit Dimensions

i

Size | A1

A2 | A3| A4 |A5 (A6 [A7 [A8 | A9 [A10[A11|A12|A13|A14| A15| Deep | A16| A17 |A18[A19|A20| A21| A22 | A23
250 | 491|450| 364|134 120 | 13 |36 12|25 | 1.2 58 |371|77.8| M16| 21 | 224 | M16| 45 |223| 54 | 100|130.2| 180
355 | 552|511| 412|160 (142 | 13 |42 15|28 | 1.6 82 |427|77.8|M16| 21 | 280 |M20| 55 |240| 59 | 100|130.2| 162
500 | 615[563|465)194 [175]15 |42 15|30 | 1.6 82 [464|92.1|M16]| 24 | 315|M20| 63 |252| 68 | 125|152.4| 185
##E Size [ A24 |A25 | A26 | A27 [ A28 | A29 | A30 [A31 |A32 | A33 | A34 | A35 |A36 [A37 |A38 |Deep [A39 | A40| Ad1 [A42 | A43 |A4d4 | A4S
250 |296(145 |179 | 198|252 |445| 70 | - | - | - | = | = | = | - |Mi4| 19 [354| 32 |66.7| 95 [31.8| 57 | 82
355 | 328|157 [194 | 206|335 |48.5| 35 | 18 [M16| 360|320 | 130 [140 |166 [M16| 21 |407 | 40 (79.4| 80 |36.5| 58 | 105
500 |343[194 [230| - |375| 53 | 35 | 22 |M20| 400|360 | 144|150 |186 |M16| 24 [446 | 40 |79.4| 80 [36.5| 64 | 105
##% Size | A46 | A47 | A48 | A49| AS0 | A51| A52 | AS3 | A54 | A55 | AS6 | A57 A58 |A59 | A60| A61|A62|AB3| iF Deep Weight(kg)
250 |53.5|50k6| 498 | 411|223 | 90| 16 | 18 | 366 | 24 | 175 | 407 | 210 |44.5| 450| 433| 169 | M5 12,5 105
355 64 |60m6 562 | 470252 | 90 | 16 | 18 | 397 | 24 | 187 | 444|225 (485 511| 492| 182 | M5 12,5 165
500 |74.5[70m@ 617 | 513|271 | 100 18 [20.5[418| 22 | 215[ 471|240 | 53 | - | 535 210| M6 16 245
ok FE4t A64 e Eid #mO  Oil Ports
Size| Keyed Keyed Splined
GB1096-79 | GB1096-79 DIN5480 AB s G X1,X2 | A1,X3 T T1 R u
250 ;géyedsms 14x80 |W50x2x24 x9g| SAE11/4"| SAE4" |M14 x 1.5|M14x1.5 [M16x 1.5|M16x 1.5 M22x 1.5| M22x2 [M14x 1.5
355 ;*;yedsme 18x 100 |WB0 x2x 28 x 9g| SAE11/2"| SAE4" |M16x 1.5|M16x 1.5 |[M22x 1.5 |M16x 1.5/ M22x 1.5/ M33x2 [M14x 1.5
500 ;ﬁéyedsms 20x 100 |W20x3x22x9g| SAE11/2"| SAES" [M16x 1.5|M16x1.5 |M22x 1.5|M16x 1.5/ M22x 1.5| M33x 2 [ M18x 1.5




HA7V RIIEBHER
Variable Displacement Pump HA7V

STHIMER T &5 5.1 #14& 250-500 Unit Dimensions Series 5.1 Size 250-500
ofE/E$=%] DR Constant Pressure Control DR

#R/ER  Standard Model B8 Remote Model Z 8 Z Direction
Al
|
: Ve &
2 o Al s Y
£ N o
A
2 4 A
< = X3

#4& Size | A1 A2 | A3 | A4 | A5 | AB A7 | AB | A9 | A10
250 489 | 296 | 173 | 198 | 314 | 211 | 272 | 165 | 84 28
355 552 | 328 | 194 | 206 | 366 | 228 | 306 | 175 | 85 32
500 610 | 343 | 221 - 417 | 241 - | 180 | 84 38

A1 B X3 RATFHEMEEE
A1 and X3 used for with pressure remote only

o JE#=%Hl HD Hydraulic Control,Pressure Related HD

T RAFHEHERE HE DR
:“ T1 used for with pressure cut—off only used for with pressure cut—off only
Py Pl
ra F
=
- e ) g -
T* . g ] E 5
- - \ = s = X
=l : 7l (e
- L i 3 9 2
X1
Do s
7 o=
1% Size | A1 A2 | A3 | A4 | A5 | A6 | A7 | AB | A9 | A10 | A1 X2k 5E plug
250 476 | 445|328 | 281 | 323 | 95 | 166 | 198 | 275 | 306 | -
355 537 | 506| 377 | 311 | 358 | 97 | 187 | 206 | 305 | 355 | 213
500 586 | 546| 409 | 382 | 382 | 98 - |216 | 335|379 | -
P : . 0 Qil ports
o FEES L4l EL Electric Proportional Control EL ™ as t#mn Operating port
S WO Suction port
T1 RAFHEHMRH G EEEHDO Remote pressure port
Al T1 used for with pressure cut—off only ;?mﬁs?;;;u f;'|°:‘ for summati:n HP control)
A2 ilot pressure pol
X2 EBEEAHQD Remote pressure port
g] A1 X3 B#Z#im 0 (HD ) | Ports for remote control valve(HD)
- z g 2 T %85m0 pilot oil return line
] T1 %SWmEm®mO Pilot oil return line
tiﬁ‘;q / R =0 Air bleed port
< i [V A Flushing port
P #i% Size | A1 | A2 | A3 | Ad| A5 | A6 | A7 | AB | A9
250 476 | 445 | 307 | 271 391| 95 | 166 [ 198 | -
GHEplig 355 537 | 506 | 308 | 28B4 | 416| 97 | 187 | 206 | 213
a3 500 586 | 546 | 346 | 308| 455| 98 | - | 216 | -




	恒源选型手册2016(1) 4
	恒源选型手册2016(1) 5
	恒源选型手册2016(1) 6
	恒源选型手册2016(1) 7
	恒源选型手册2016(1) 8
	恒源选型手册2016(1) 9
	恒源选型手册2016(1) 10
	恒源选型手册2016(1) 11
	恒源选型手册2016(1) 12
	恒源选型手册2016(1) 13
	恒源选型手册2016(1) 14
	恒源选型手册2016(1) 15
	恒源选型手册2016(1) 16
	恒源选型手册2016(1) 17
	恒源选型手册2016(1) 18
	恒源选型手册2016(1) 19
	恒源选型手册2016(1) 20
	恒源选型手册2016(1) 21
	恒源选型手册2016(1) 22
	恒源选型手册2016(1) 23

